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NEW QUESTION 1
Which two feature on the SRX Series device are common across all Junos devices? (Choose two.)

A. Stateless firewall filters

B. UTM services

C. The separation of control and forwarding planes
D. screens

Answer: AC

NEW QUESTION 2
On an SRX Series device, how should you configure your IKE gateway if the remote endpoint is a branch office-using a dynamic IP address?

A. Configure the IPsec policy to use MDS authentication.
B. Configure the IKE policy to use aggressive mode.

C. Configure the IPsec policy to use aggressive mode.
D. Configure the IKE policy to use a static IP address

Answer: B

NEW QUESTION 3
What are two characteristic of static NAT SRX Series devices? (Choose two.)

A. Source and destination NAT rules take precedence over static NAT rules.

B. A reverse mapping rule is automatically created for the source translation.

C. Static NAT rule take precedence over source and destination NAT rules.

D. Static rules cannot coexist with destination NAT rules on the same SRX Series device configuration.

Answer: BC

NEW QUESTION 4
Exhibit.
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Which two statements are true? (Choose two.)

A. Logs for this security policy are generated.

B. Logs for this security policy are not generated.

C. Traffic static for this security policy are not generated.
D. Traffic statistics for this security policy are generated.

Answer: AD

NEW QUESTION 5
Which statements is correct about Junos security zones?

A. User-defined security must contain at least one interface.

B. Security policies are referenced within a user-defined security zone.
C. Logical interface are added to user defined security zones

D. User-defined security must contains the key word “zone”
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Answer: C

NEW QUESTION 6
You configure and applied several global policies and some of the policies have overlapping match criteria.

A. In this scenario, how are these global policies applies?
B. The first matched policy is the only policy applied.

C. The most restrictive that matches is applied.

D. The least restrictive policy that matches is applied.

Answer: A

NEW QUESTION 7
What are configuring the antispam UTM feature on an SRX Series device.
Which two actions would be performed by the SRX Series device for e-mail that is identified as spam? (Choose two.)

A. Tag the e-malil

B. Queue the e-mail
C. Block the e-mall
D. Quarantine e-mail

Answer: AC

NEW QUESTION 8
You want to generate reports from the I-Web on an SRX Series device. Which logging mode would you use in this scenario?

A. Syslog
B. Stream
C. Event

D. local

Answer: B

NEW QUESTION 9
You want to integrate an SRX Series device with SKY ATP. What is the first action to accomplish task?

A. Issue the commit script to register the SRX Series device.

B. Copy the operational script from the Sky ATP Web UI.

C. Create an account with the Sky ATP Web UI.

D. Create the SSL VPN tunnel between the SRX Series device and Sky ATP.

Answer: C

NEW QUESTION 10
Which UTM feature should you use to protect users from visiting certain blacklisted websites?

A. Content filtering
B. Web filtering

C. Antivirus

D. antispam

Answer: B

NEW QUESTION 10

Which type of security policy protect restricted services from running on non-standard ports?

A. Application firewall

B. IDP

C. Sky ATP

D. antivirus

Answer: B

NEW QUESTION 13

Which two statements are correct about using global-based policies over zone-based policies? (Choose two.)
A. With global-based policies, you do not need to specify a destination zone in the match criteria.

B. With global-based policies, you do not need to specify a source zone in the match criteria.

C. With global-based policies, you do not need to specify a destination address in the match criteria.

D. With global-based policies, you do not need to specify a source address in the match criteria.

Answer: AB

NEW QUESTION 17
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You are concerned that unauthorized traffic is using non-standardized ports on your network.
In this scenario, which type of security feature should you implement?

A. Application firewall
B. Sky ATP

C. Firewall filters

D. Zone-based policies

Answer: A

NEW QUESTION 19
Referring to the exhibit.
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Which type of NAT is being performed?

A. Source NAT with PAT

B. Source NAT without PAT

C. Destination NAT without PAT
D. Destination NAT with PAT

Answer: A

NEW QUESTION 22
Which two statements are correct about functional zones? (Choose two.)

A. A functional zone uses security policies to enforce rules for transit traffic.

B. Traffic received on the management interface in the functional zone cannot transit out other interface.
C. Functional zones separate groups of users based on their function.

D. A function is used for special purpose, such as management interface

Answer: BD

NEW QUESTION 24
Which two notifications are available when the antivirus engine detects and infected file? (Choose two.)

A. e-mail notifications

B. SNMP notifications

C. SMS notifications

D. Protocol-only notification

Answer: AD

NEW QUESTION 29
Which security object defines a source or destination IP address that is used for an employee Workstation?
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A. Zone

B. Screen

C. Address book entry
D. scheduler

Answer: C

NEW QUESTION 32
What should you configure if you want to translate private source IP address to a single public IP address?

A. Source NAT

B. Destination NAT
C. Content filtering

D. Security Director

Answer: A
NEW QUESTION 36

Users should not have access to Facebook, however, a recent examination of the logs security show that users are accessing Facebook.
Referring to the exhibit,
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what should you do to solve this problem?

A. Change the source address for the Block-Facebook-Access rule to the prefix of the users
B. Move the Block-Facebook-Access rule before the Internet-Access rule

C. Move the Block-Facebook-Access rule from a zone policy to a global policy

D. Change the Internet-Access rule from a zone policy to a global policy

Answer: B

NEW QUESTION 41
Your company uses SRX Series devices to secure the edge of the network. You are asked protect the company from ransom ware attacks.
Which solution will satisfy this requirement?

A. Sky ATP

B. AppSecure

C. Unified security policies
D. screens

Answer: A

NEW QUESTION 44

You verify that the SSH service is configured correctly on your SRX Series device, yet administrators attempting to connect through a revenue port are not able to
connect.

In this scenario, what must be configured to solve this problem?

A. A security policy allowing SSH traffic.

B. A host-inbound-traffic setting on the incoming zone
C. An MTU value target than the default value

D. A screen on the internal interface

Answer: B
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NEW QUESTION 48
Users on the network are restricted from accessing Facebook, however, a recent examination of the logs show that users are accessing Facebook.
Referring to the exhibit,
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Why is this problem happening?

A. Global rules are honored before zone-based rules.

B. The internet-Access rule has a higher precedence value
C. The internet-Access rule is listed first

D. Zone-based rules are honored before global rules

Answer: D

NEW QUESTION 53
Which method do VPNSs use to prevent outside parties from viewing packet in clear text?

A. Integrity

B. Authentication
C. Encryption

D. NAT_T

Answer: C

NEW QUESTION 56

Firewall filters define which type of security?
A. Stateful

B. Stateless

C. NGFW

D. Dynamic enforcement

Answer: B

NEW QUESTION 61
Exhibit.
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Which statement is correct regarding the interface configuration shown in the exhibit?

A. The interface MTU has been increased.

B. The IP address has an invalid subnet mask.

C. The IP address is assigned to unit O.

D. The interface is assigned to the trust zone by default.

Answer: C

NEW QUESTION 64
Which flow module components handles processing for UTM?

A. Policy

B. Zones

C. Services

D. Screen options

Answer: C

NEW QUESTION 69
What are the valid actions for a source NAT rule in J-Web? (choose three.)

A. On

B. Off

C. Pool

D. Source
E. interface

Answer: BCE

Explanation:
Explanation

https://www.juniper.net/documentation/en_US/junos/topics/topic-map/nat-security-source-and-source-pool.html

NEW QUESTION 70

You want to automatically generate the encryption and authentication keys during IPsec VPN establishment. What would be used to accomplish this task?

A. IPsec

B. Diffie_Hellman
C. Main mode

D. Aggregate mode

Answer: B

NEW QUESTION 73
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